Addition and Subtraction
19 - 6 = ____                          15 - 7 = ____
20 + 7 = ____                          17 + 4 = ____
15 - 8 = ____                          20 - 20 = ____
19 + 8 = ____                          14 + 8 =  ____
[bookmark: _GoBack]20 - 0 = ____                          12 - 9 = ____

1. A packet of sweets has 6 sweets inside. How many sweets will I get if I buy 3 packets?

2. Alfie has 10 biscuits and John has 4 biscuits. How many more biscuits does Alfie have? 

3. If cakes are sold in packs of 5 how many packs do I need to buy to get 20 cakes?

4. On the farm one hen lays 7 eggs, another lays 10 and the third hen lays 6 eggs. Can you work out the total number of eggs?
